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FRAERT 96 106 116 222| i1 BT 187 175 156 331|FKkET— T H 266 251 188 439| HRCHHHT 255 304 315 619
ARYHT 200 191 214 405 IHTHN 12,065 11,663 12,657| 24, 320[#kHT T H 157 156 112 268| e AFHMT 611 732 845 1,577
JELET 419 394 462 856 FRET =T H 130 138 115 253 KEHHIX 3,472| 4,202  4,404| 8,606
T 568 601 619 1,220k EHT 237 261 278 539[%KHTPY T H 74 49 55 104
& HHET 324 315 338 653| BRIFHT 3,628 3,884 3,912  7,796| ANHFHEX 9,908| 10,462 10,034| 20, 496|Fi A LHT 347 440 448 888
T 264 230 234 464 FRAArHT 186 207 227 434 A HmT 208 287 316 603
T 121 122 124 246 75 FHIT 527 515 529 1, 044 HrfRmT 1,157 1,484 1,518 3, 002| s (LT — T H 574 621 726 1, 347
KAGHT 596 565 577 1, 142|{TAHT 3,625 3,900  4,044| 7, 944|H{f H fHET 358 396 433 829| 4k ILIHT — T H 230 257 272 529
SR HT 17 13 16 29] H iR T 3,282 3,566 3,640  7,206|H KT 1,636 1,722| 1,852 3, 574|HR/NEHT 634 731 764 1,495
SRS HT 52 44 57 1012 K0T 578 630 613 1, 243( B T 1,049 1,232 1,192| 2, 424| 14 kT 1,507 1,863 2,017 3,880
EeviilsElng 214 224 270 494 &5 BHHT 1, 362 1,538  1,610| 3,148 #Hr&RMiX 4,200 4,834 4,995 9,829 mA/\iEH1X 3,500 4,199 4,543 8,742
AeiEsT 77 65 59 124 KAhmy 153 155 165 320
JUTRHT 201 204 233 437 HEHT 360 436 512 948| H- BT 2,733|  2,877|  3,154| 6, 031|E KT 467 487 544 1,031
HHHT 167 125 100 225 HUERAT—T H 336 379 391 T70| K\ AHT 1,144 1,304| 1,241 2, 545| FEIFHT 280 347 362 709
AT 75 58 78 136| BLERHT T H 460 509 472 981 /N \AHT 1,184 1,408 1,401 2, 8095 #7 HHET 750 818 857 1,675
FFIHE— T B 145 144 161 305| HERET =T H 443 538 500 1, 038| EEL=RAT 439 524 565 1, 089| B HLHT 203 257 256 513
TRHEET T H 120 139 131 270( HEIRHTIY T H 314 363 412 T75|[EEETE — T H 34 23 22 45| F iy 1, 085 1,347 1,416 2,763
FFET =T B 117 126 127 253 ERIR MK 15,491 16,881 17,305 34, 186|RIRHTVE — T H 101 103 89 192|# BT 639 821 837| 1,658
TRTEETE T H 143 160 176 336 fEIT— T H 340 236 356 592| & X 3,424 4,077\ 4,272 8, 349
FFIHETH T H 21 15 8 23| A JRET 3,705 4,054 4,220 8, 274|MEET =T H 34 32 31 63
B Fnmy 425 418 485 903| AT — T H 262 285 328 613| M EET =T H 14 12 14 26| A Br T 5, 600 6,310| 6,463 12,773
5 LT 27 21 26 47| FFET =T H 578 634 704 1, 338|RIRETIUT H 122 129 123 252|'= T 210 297 325 622
ELHT 166 168 193 361| A BT =TH 867 881 971 1, 852 BT 1,929 2,176  2,316| 4,492 AR HIX 5,810/  6,607| 6,788 13,395
BT 34 24 32 56| <F 2 MT 1,654 1,745 1,849 3,594 HJI[HhX 8,074| 8,824 9,312 18,136
31 T 176 150 181 331 FREpHHHT 1,439 1,490/ 1,560 3,050 KIRAT 409 483 545 1,028
EA 507 500 540 1, 040|527 HT 198 200 215 415 A HT 485 489 602 1, 0915 H BT 510 602 597| 1,199
RO T 35 23 31 54| \FRET—TH 482 499 530 1, 029|&liFFET 2,236| 2,432 2,458 4, 890| & EFHT 607 737 704 1,441
fEEHT 80 67 74 41\ TFRHET =T H 347 337 385 T22| TR HT 233 291 316 607 74 JeHT 137 150 141 291
HEAHT 39 38 49 BT[N\ TARET=TH 463 488 553 1, 041| & T 1,039 1,142]  1,201| 2, 343|#kJEHT 532 696 708 1,404
HH ] 266 243 238 481\ FARHETIY T H 367 414 451 865 | HRIEHT 528 624 628 1, 252| & =5 T 367 431 389 820
HHT 167 158 172 330 AT MK 10,362| 11,027| 11,766 22, T93|HT EHT 379 377 460 837| T IS4 BT 507 646 644| 1,290
P HT 600 614 632 1,246 NI T 2,216 2,681 2, 744 5,425| s EHIX 3, 069 3,745 3,728 7,473
ERAET 27 28 23 51| b EpET 2,260| 2,518  2,644| 5, 162|F5HHET 137 173 179 352
i LLIT 522 509 566 1, 075|{&=BFENT 37 37 43 80 J\iEHhX 7,253| 8,209 8,588 16, 797| LuEHT 255 339 348 687
HRHT 24 29 28 57| krERT 3,550| 3,846 3,803 7,649 TERERHT 135 179 178 357
5 LT 201 186 184 370| AL A HERT 345 388 456 844 |- T 1,236  1,424| 1,466 2,890 F 75 HHT 154 206 203 409
JEmT 163 170 170 340| 22 HT 707 705 738 1, 43| T[] W 1,820 2,115 2,151 4, 266| T HEHT 376 479 463 942
T 365 348 374 722| FHEEFHT 1,221 1,480 1,469 2, 949wy 826 937| 1,008 1, 945 51T 308 441 412 853
R R T 32 28 35 63| N2y 1,498 1,839 1,829 3, 668|dL/AfRHT 431 461 514 975| PR FHT 407 466 433 899
AT 1,573 1,575 1,738 3, 3L3| FHUERT 1,024 1,214 1,215 2,429 B[ X 4,313 4,937| 5,139 10, 076|/\ %5 HT 348 462 462 924
i HH T 196 185 210 395 Hi 4 PHHT 400 468 470 938 T ) | 1 (X 1,983|  2,572| 2,499 5,071
FauT 134 124 151 275( 1 JEHT—T H 510 576 549 1, 125|7hHET 476 593 610 1,203
RN 179 150 169 319|ERT =T H 1, 400 1,391 1,645 3, 036) 45 HulT 456 585 606 1, 191 AT = & 472 611 574 1,185
faprli) 194 195 234 429( 1 JEHT =T H 635 697 758 1, 455| LT BT 163 199 198 397 | BHIHT HE H 410 499 494 993
AHT 170 144 166 310 HEHTID T H 644 709 726 1,435|47 0T 133 177 179 356| AHINT KA 166 217 212 429
JEAH T 112 91 62 153| AWHERT 861 954 981 1, 9351 HT 1,139 1,383 1,455 2, 838| BT A K 111 140 160 300
AN=10) 341 368 411 779\ FnHH £ T 600 642 571 1, 213| /B T 364 439 481 920| A AINT )1 327 371 397 768
)BT 238 183 232 415(  PEBFHIX 15,692| 17,464| 17,897| 35, 361[3RHHT 447 528 537 1,065 ApHHLX 1,486 1,838 1,837 3,675
Ly 106 99 101 200 Frldmy 249 320 330 650
= HT 87 78 96 174| L/ EHT 787 864 968 1,832 RmpHIX 3,427| 4,224  4,396| 8, 620| FEHRHT PE A R 721 871 928| 1,799
DU T 32 39 32 71| _E/hggEaT 469 564 618 1,182 FERHT SO 89 108 118 226
AT 44 47 45 92| FAfA T 2,961 3,016 2,727 5, 743| L RHAET 1, 245 1,410 1,436 2, 846| EABHT k2.2 IR 317 207 191 398
FETEIT 71 71 62 133 T/ sy 2, 194 2,298/ 2,187 4, 485|185 JAEHT 299 385 401 786 FEHRIT I 964 1,232 1,288 2,520
SHAEHT 248 259 297 556| T /INMEHT 1,513 1,582 1,531 3, 113) SEIfHT 635 839 859 1, 698| HARHT AU = 404 514 538 1, 052
A RA T 360 317 362 679 HLAHET 1, 357 1, 544 1,533 3, 077| FIJEHT 427 532 548 1, 080) ZE4pHT 2 1,331 1,617 1,676 3, 293
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. A m) s A =] s A =] ., A m]
g % LSS 7 i 3 Ly 4 LS 7 I En Lo 4 LS 7 i 3 iy 4 4 7 = 7
T E 768 964| 1,018 1, 982|FEHMT/INN 145 201 203 404
BT 5 ] 329 469 476 945 & HMT F L 218 298 287 585
LM 206 268 252 520 & FH-HT A 459 621 589 1,210
FEHmTFD (L 157 201 215 416 FHHHT | 286 354 337 691
FERRET )1 422 516 540 1, 056 & M7 575 764 739 1,503
FEHmT v iy 6 5 7 12| & 0T % H 412 535 573 1,108
FEBET FIARR 871 1,192  1,196| 2, 388|EHHMT L 96 140 143 283
FEARIT AR R 1, 598 1,969 2,090 4, 0597 HHTE 30 42 42 84
FEHRHI X 8,183 10,133 10,533| 20, 6667 H-HT R 308 426 414 840
I 227 189 235 424
oL 3,497| 4,349 4,459 8, 808| AT HA 38 52 53 105
SEFHET 1, 564 1,901 2,027 3, 928| F AT AR 11 10 15 25
Ly 502 694 741 1,435 FHHMTZ L R 387 509 496 1,005
i73ELa) 194 235 249 484| F FERTRIR 45 64 69 133
Fiti i 5 W] 267 305 287 592 7 HHT A 4o 133 183 163 346
3 7KHET 92 127 126 263| HIFHTH S 138 199 203 402
% JE[RIHT 72 97 106 203| T/ N 345 441 454 895
HE S HT 214 303 322 625| & JFHT AL 114 156 166 322
PYIE Sy HT 243 335 329 664 F HHT S I 172 207 202 409
AL ET 400 435 426 861| 7 HEMT/NEE 209 295 284 579
T 3,235 4,115  4,126) 8, 241| R HHTHEEE 577 747 719 1,466
HAHT 1,397 1, 695 1,730 3, 425| HEIMTFE G — T B 323 370 388 758
= T 794 1,024 1,005 2, 029| HHHTRGE T H 368 421 469 890
R 1,425 1,625 1,614 3,239 FHHMTEIBAE=TH 277 381 370 751
T 1,227| 1,441  1,484| 2, 925| R HETAEIE 299 399 412 811
Hh LT 420 516 563|  1,079|EART T EBF 95 128 128 256
PR HET 622 828 807 1, 635 & HHT [ B 135 189 177 366
FEHHT 506 597 662| 1,259 FHMTH O 58 79 81 160
THE G X 16,671 20,622 21,063 41,685 FHH:HIX 9,521| 12,136 12,260 24,396
BT 5,527| 6,090 6,287 12,377
T Hi X 5,527| 6,090 6,287 12,377
TFER T 1,146| 1,410 1,487| 2,897
= HH ET 904 855/ 1,003 1,858
SR T 461 582 569 1,151
B4 (LT 94 55 80 135
AT 41 33 53 86
R EHT 373 535 539| 1,074
L RLIT 942 1,185 1,233 2,418
v L BT 697 889 911 1, 800
- E AT 998| 1,243 1,257 2,500
AHBHT 857 1,110 1,115 2,225
e T 701 904 938| 1,842
T 172 220 232 452
+ 35T 189 239 244 483
B RET 328 448 431 879
LY R HET 111 121 129 250
HFHT 119 155 150 305
E 8,133| 9,984 10,371| 20, 355
EHIHTE IR 639 745 77 1,522
TS IR 1,146|  1,344| 1,370 2,714
HIH] N RAR 244 317 327 644
2 I RAR 1,012 1,330, 1,375 2,705 WA F 161,564) 184,730 190,674| 375,404




